AV.W. EQUIPMENT

WRAP STABILIZER
KIT

Model
WA2F-0318

A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com




WRAP STABILIZER KIT, MODEL WA2F-0318

_ ,
"’0* A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153

PUTG,

Page 2

' Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com



WRAP STABILIZER KIT, MODEL WA2F-0318

FRONT STABILIZER MOUNT ASSEMBLY — WA2FB-0318

& 2 A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153
N "7 Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com

Page 3




WRAP STABILIZER KIT, MODEL WA2F-0318

REAR STABILIZER MOUNT ASSEMBLY
WA2FC

2.2

STABILIZER KIT BRACKET

23 e

A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153

Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com Page 4




F\C
oy

PUTG,

WRAP STABILIZER KIT, MODEL WA2F-0318

ITEM Description PART No. QTY.
- WRAP STABILIZER KIT WA2F-0318 1Set
1 FRONT STABILIZER MOUNT ASSEMBLY WA2FB-0318 2
1.1 FRONT MOUNT WA2FBA 2
1.2 THREADED ROD 3/4°-10 x 5’LG WA2FBBI1 2
1.3 |HEXNUT 3/4°’-10 HN3410 6
- SCREW FASTENER SET ( INSTEND OF THE PIN) - 2
1.4 |HEX HEAD CAP SCREW 1/2’-13 x 3’ LG HHCS1213300 2
1.5 |FLAT WASHER 1/2’ I.D. x 1-1/4>> O.D. FW12125 4
1.6 [NYLON LOCK NUT 1/2* - 13 NLNI1213 2
2 REAR STABILIZER MOUNT ASSEMBLY WA2FC-0318 2
2.1 |REAR MOUNT WA2FCA 2
- SCREW FASTENER SET (CONNECTION WITH ARM) - 2
2.2 |HEX HEAD CAP SCREW 1/2°-13x 2’ LG HHCS1213200 4
2.3 |FLAT WASHER 1/2’ 1.D. x 1-1/4>’ O.D. FW12125 8
2.4 |NYLONLOCKNUT 1/2>>-13 NLNI1213 4
2.5 |STABILIZER KIT BRACKET WA2DAE-0318 2
2.6 |U-BOLT Sq.3/8” x4x5 1/4” UB-SQ0375x1600 | 4
3 SHOCK ABSORBER ASSEMBLY WA2FA 2
3.1 |SHOCK ABSORBER WAIFAA 2
3.2 |UHMW BUSHING 1/2”’ LD. WA2FAI 4
% A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 Page 5

AS

Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com



